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| 1) Ceach Gearge wen‘i’ 10 a s-’rcre ;'
to buy mouth guards. The # 4,50
following packages of mouth o ° 145

guards are avaiiabie at this
store. 10 mouth guards for
$14.80 15 mouth guards for | 22.50

- ¥
$22.50,Coach George needs = *[.50

to buy 60 mouth guards. How /5
much money will he save by g[ 45 = ‘59;}1,
purchasing 60 mouth guards in GO x 195 =

packages with the lowest unit

¢ = §
price compared to the highest Lo x (.50 70

unit price?
He will save 3.

3) For the following problem, | T T T T 1T 1 1 1
draw the graph of the |
propartichai relationship 7 |
between the Two quantities ‘ »’%ﬁr |
and describe how the unit rate = %’I 7 i

. is represented on the graph. Q 4 [’ |
An Ein tree grows 8 inches each 24 { '

year. % !
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One vear is at 8 r-?"H'HSHCMU
be een because at Ho' it

is & urs. Ho~8 = B whick is

the. (%m"': raje




3) Jdonathan ¢an jog 3}2)- miles in% 3% ﬁ (
hour. Find how many miles he i = |
Jogs in an hour. Z‘ 3

Bita ""‘) * ‘w" T g g

4} There are 600 pupils in a

school. The ratio of boys to b2 bous 5 A girls 5 X

girls in This school is 3:5. How 9 B g 8 00D |l § 2
many giris and how many hoys . -

are in this school? LEX = 1590 £X 3-’990

¥ & £ %
X =225 X =375
bOtﬁ.S J 3ir|.‘\

5) Find the vaiue of x in the _é - b
diagram beiow: X 5
| bx=25
H  sq E b b
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6} Judy lies on the ground 45 feet
from her tent. Both the top of the

45 _ s

tent and the Yop of a tall cliff are
in her line of sight. Her tent is 10 /() X
Teet tall. About how high is the :
) R vg He
Not drawn to scale
X = 9%.%9
tent ... cliff
o ~ 998
fe— 45 ft 400 ft - -
7) Lee's paper clip-c'hain is 38 ' :—Tr)
feet fong. He is going 0 add paper ,
clips continually for the next eight $0
hours. At the end of eight hours 32 .
the chain is 80 feet fong. Find the 4s £t grourth

unit rate of growth in feet per
hour.
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8) A drawing of a surfboardina
catalog shows its length as 8-—-
inches. Find the ac‘ruai iengTh of
the surfboard if = - inch length on
the drawing corresponds To 8"?001’
of actual length. '

4) A oy company is redesigning
its packaging for model cars. The
graphic design Team needs 10 take
the old image shown below and

resize it so that - mch on the old

packaging represen‘ts inch on the

new package. Find ’rhe length of
the image on the new package.

Car image length on ald packaging measures 2 inches.
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{0} Josh has 300 DVDs and 75

SImBiuemy movies. What is the
@*—%?5' ratio of DVDs 10 Blueray
movies ?

I} Garrett drove 434 miles on {8
gallons of gas. Derick drove 364
miles on Y gallons of gas. Who
had the better gas mileage?

13} A peanut vendor sells roasted
peanuts in three sized bags: &
pounds for 3, 5 pounds for
$7.50, or & pounds for $ 13.
Which is The best buy?

o)
200 . 1% L T v
15 3 W&rdfj
no o6 D
432 g_,q”y[ Q_Cam/ﬂa[
0y
Deriek gefs beker
gas rml.c
12)
3. ®lso
-
$1.50_¢ /.50
5
312 _ %50
g




13) Which of the Tollowing is NOT «a .
irue proporfion? .

a. 3.:7=6.MH @

b. 5:8= 1534 e ——

7 15

c. & 9= {a ;864

d 3:5=6.15

{4} A rectangie is 4 feet long and 6
feet wide. A similar rectangle
is 15 feet wide. How long is the
gimilar rectangie?

18} A model car has a scale factor tod | ;}
of |:48.1If the tires on the —
mode! car have a diamefer of /4 o /—[ ¥ X
inch, what is the diameter of a ag o ‘%, ”
tire on the actual car? : x: -%—/a -




